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Jméno:                                                                       datum:

Vyřeš slovní úlohu:

Olin má 15 třešní. 8 třešní snědl. Kolik třešní mu zůstalo?

Zápis:

Výpočet:

Odpověď: __________________________________________________

Vypočítej:

V(13-8)+9=                                                                (16-5)-4=

12+(3+4)=                                                                   15-(6+5=

15-(8-3)=                                                                    19-(6+6)=

15+(4+1)=                                                                   16-12-3=




